e state of World Population Report is an
snnual report published by

(4] World Health Organization (WHO)

(8} United Nations Population Fund (UNFPA)
(C) International Labour Organization (1LO)
(D) None of the above

If every second Saturday and all
sundays are holidays in a 30 days
month beginning on Saturday,
then how many working days are
there in that last month ?

(A) 20 (8) 21

(c) 22 (D) 23

'SVEEP’ stands for

(A) Systematic Voters Enrolment and
Electoral Participation

{B) Systematic Voters Enrolment and
Education Programme

(C) Systematic Voters Engage and Electoral
Participation

(D) Systematic Voters Education and
Electoral Participation

I in a certain code, ‘OTRIVIN' is written
as ‘NIVROTR', then how will ‘RISKING’ be
written in that code ?
(A) GINPRIS

(B) GNIKRIS
[C) GNPIRIS

(D) GNIPRIS

Consider the following statements about
Reserve Bank of India (RBI).

| Itisthe Central Bank of India which controls
the monetary policy of the country,

Il. It supervises the activities of both the
formal and informal sectors and keep
the track of their activities.

Choose the right option given below :

|A} The statement | is correct

18) The statement Il is correct

€} Both the statements 1 and Il are correct

D) Both the statements | and Il are incorrect

A person making false documents with the
'"tention of causing damage or injury to the
ublic or any person is called

IA) Fraud (B) Forgery

'€} Cheating (D) None of these

9. fawa s foafy s 6y,

10.

11.

12,

14,

CMMS - 51

% 110 wantfary oy

ke find o7

(A) faza ) ey ( wsAran )

(B) ‘I.’{‘f-l T ARy (quAudhy )
(C) sTtefin um apima (aréua)

(D) TW 0 4 a7 ]

siftamn @ 0 YEeft 30 fa e g w5 af
Aoy qn nfaan st ol fam 6 g8 ey
7, @ faeget wita o e faas i foam 4 7
(A) 20 (8) 21

(€) 22 (D) 23

'SVEEP’ 1 WaeTd #
(A) Rrbfem ared vairentz vy geaam
ittty
(8) fewbfea, sad vireniiz vg va@em o
(C) fa2tifos ared virst vz stwsim
T2 farerm
(D) fa=fifes 1ed TSI T2 TS

uft v gz 4, ‘OTRIVIN' #1 ‘NIVROTR' ferma A
8, M7 = 8 RISKING' #1353 Ferey o

(A) GINPRIS (B} GNIKRIS
{C) GNPIRIS (D) GNIPRIS
v frad &% (Reny & am g Ry
Freiferform e o fram 55 %)

I. wﬂmwiﬁmh?ﬁ%ﬂﬁﬂ‘r&iﬂﬁ
F Fafaa w2

E?II. TR sl s s A9
L]

nfafahat & wwasn w2 # 3h
nfatafm w a3 e 2
fwm{qﬁaﬁi::nﬁfaa—:r:ﬂmaﬁ:
(A) a3 | @ 2
(B) @& || 7 ?
(C) =11 o= | 3 | o
(D) F4= | 3% 1) 211 vy =1 &

W wE AE o

il e =
qERE T F 2 53 o - =
1 § 4 ?mw;:_a?mmmi,m
(A) aren (8)

(C) M=Emr 5

(D) ﬁﬁ:{mm

G



tablis :
(E,as Franklin D. Roosevelt, Joseph Stalin,

winston Churchill
g) Franklin D. Roosevelt, Lenin,
Winston Churchill
¢) Franklin D. Roosevelt, Winston
Churchill, Nehru
)) Wudro Wilson, Winston Churchill,
Joseph Stalin

ich number will come in the place of question
rk ?

216 343 r
2 6 2

4 1 3

125 (B) 228
112 (D) 218

tion 66(E) of IT Act deals with
Punishment for violation of Privacy
Spamming
Cyber stalking
Phishing
ich of the following is example for
nentum (Schizocarpic fruit) ?
' Mango (B) Peach
) Mimosa (D) Euphorbia

" e

CMivis

g e R
3. ﬁa’cﬁ? ‘ o
. 3 ifers wiuan

(A) : ERsEcllbeat
8) I :
) o & v
wm%@ﬂm’*ﬁ?—ﬂtgu B
2 S 'ef15,50, 207, @ amas;
(A) 1000 B j
(C) 1050 e IR

3, fomdl w0 U e g gy
= 109—501;4-235;%@35
t=3s9 2 o
(A} -10V |:EI,| 0y :
(C) 10V (D] -EIE o
4. ?5@ ‘SAGAR’ (mq'ﬂaiﬁ%ﬂmgr,f—
'a‘ e %. i “5
(A) TR -%ETE (B) W37
(C) vra-Ffifamm (0w

R
(A) WQWWW F;:,:':

£

T
T
=




ng?__miw..-

Choose the correct order 15, |l WH H |

(1) ¥arn (2] Siteworm (3] Saree (1) uw (2) Tz (3) =y

(4) Sk I5) Cioth (4) = 15) Wz T
(A) (3], (&) (1), (2), (5) (A) 13), (4), (1), (2), (5) =
(B) (2), {4} (1), (5). (3) AB) (2), (4}, (1), I5), (3) et
(€) (2), (2} (3). (5). (1) (C) (2], (4), (3), (5}, (1)

(D) (2], (4). (51, (1), (3) (D) (2), (4}, (5), (1), {3)

The purposeful, organized groups that strive 16. ﬂmﬁam_m. Tntan o L Hiary

to work toward a common social goal are ag = faem § ey mﬂuﬁﬂf i ﬁf
{A) Flash movements (A) W SR by
(8) Social movements @ (8) wTo st

(C] Political movements %m..._ (C) Tl stidwem

(D) Conventional movements (D) wrnfrF siaER

‘rom the given answer figures, select the one in 17. AW IW A G s

vhich the question figure is hidden/embedded. s ﬁ_mmﬂ.m& fﬂuwﬂm.“ : T

Y]

(B)

) (D)

egion with a large number of deep gullies
ravines is called a
Valley topography
Coastal topography
Bordaned topography
Badland topography

o are used for connecting

imunication devices like mouse
| modem.
Serial ports
Parallel ports
Universal Serial Bus (USB) ports
Integrated Digital Electronics (IDE) ports

value of
(0.0347)* +(0.9653)° s
347)° - 0.0347%0.9653 +(0.9653)°

0 (B) 1

M
(A) ﬂ (8) @
() - (D) @

18, &l e # el Tl v wid (ag)
%.mﬂ_waﬂ_af

(A) R

(B) iz A TG

(C) TS TEETEA

(D) A= TEE .

10 (D) 30




ted Nations was established in the year

1‘!_};1.‘:'1 (B) 1942
1965 (D) None of the above

sn exam conducted for 38 students of
5 X1 15 passed in Biology and 25 passed in
mistry. If at least 1 student failed in both
subjects, find the maximum number of
jents who passed in only Biology.

5 (B) 10
12 (D) 15

Youngs double slit experiment, the
ance between the two slits is 0.1 mm
i wavelength of light used is 4 x 107 m.
1e width of fringe on screen is 4 mm, the
ance between screen and slits is

0.1 mm (B) 1cm
0.l1cm (D) 1m

hold the information that the CPU
urrently working on.

. Control Unit
' Qutput Unit

1d the data given below and based on it
-wer the following question :

B, C, D, E, Fand G are 7 houses in a road
ich are facing east. C is sitting to the ri ht
D. B is one of the corners and E is his
ighbour. G Is in between E and Fand D is
rd from south end.

is a neighbour of which of the following

(B) Registers
(D) Input Unit

irs 7
5] CE (B) FC
] AC (D) GB

1@ First Chemical Examiner’s Laboratory was
tablished in 1853 by the Government of

Al Delhi (B) Gujarat

C) Hyderabad (D) West Bengal

:hn i?rlhe current Cabinet Secretary of India ?
ri ﬂJIESEth (B) P.K.Sinha

-} Rajiv Gauba (D) None of the above
N out the incorrect matching related to

'omic Power Stati
¥ tations and th
.I.m:h they located. e States in

arora
8y - Uttar Pradesh
¥ f_j:!fﬂfapara - Gujarat
T) fmgakk - Karnataka
skkam - Andhra Pradesh
r B 2
g b ¥ 3 i
L
.

CMMS - 51

36. ﬁ’ﬁ*‘““’%’ﬁmhﬁgm?

30 (A) 1945
#ﬁ (C) 1965

37.

39.

41.

42.

43,

(B} 1942

(D) 3T0a °§ 8 508 =
FA X1 & 38 orl & fon smdifsa vw
§, 15 et & s # i 25 e
A # | af 1 or A v # e 8, A
mﬁﬁwmmﬁmﬁmm
E |

(A) 5
© 12 o) 15
gﬂ* ﬁﬂw,ﬁm%m
1 mm 3 T wE
qORA 4 x 107 m ® 1 7l wEm  dhim
(fmst) 1 =i 4 mm 2, 1 %2 ol
amF AR
(A) 0.1 mm (B) 1em
(C) 0.1¢m (D) 1m

30 g ¥ U w=a @ | W

T A

(A) FE0 By =
(c) Forfar gaFrd (D) ¥V §=TE
ﬁqmmmmﬁmmmm
ﬁnm%m&:

uF WeF WA, B, C, D, E, F 3 G ¥@ W

v T @ 1 AR 1 DF AL, B

e ot T 2 3 E T TR R 1 G, E SN

F ¥ e 8 | 0 atEw I S A FEO R

D f= H A FA-ANE = TS R 7

(A) CE AB) FC

(C) AC (D) GB

g TEEE dtedal gEnTEmen 1853 7

FE g0 rfya i |

(A) B (B) TR

(C) tatEm= (D) wfrem @i
FHE?

6. %, frm

(D) I & g

Sl 2Et 3 39 Tl | geiia e

qTHTY

fererr = war =rrd, ot @ feara 8
e = T
(C) &m - wze
{ymm - 3y W

B

I T =



; of H:r: most influential modern scientists
out forth a theory about how people
elop a sense of self

. Erik Erikson
) Sigmund Freud

e
g

} Jean Piaget
)} Robert K. Merton

vhat is the number of pieces into which
. cube can be cut by three cuts In one
direction, six cuts in the second direction
and seven cuts in the \hird direction ¢

(A) 126 (B) 224

(c) 312 (D) 278

inflation in an
overall increase in the cost of production. it

is called

LAY Cost-push inflation

(B) Mo inflation

(C) pemand-pull inflation
(D) Deficit-induced inflation

economy may arise from the

1. |f {’x —1)isthe H.C.F. of (x! = 1) and
px—qx+ 1), then
(A) p=29 (B) q=2p
(C) 3p=29 (D) 2p =39
AGP Stands for

(A) Accelerated Graphic Pen

(d (8) Advanced Graphics Port
(C) Accelerated Graphic Port

(D) Advanced Graphics Pen

Most of the economies are
(A) Mixed gconomies

(B) Socialist economies
(C) Capitalist pconomies
(D) Cnmmunislemnamies

Teacher : Fducation & - Mason : ?
{A) Shoes () wall
(C) Book (D) Film

& ‘f“'“ﬂhvdratt protein and fat metabolism
im the body is regulated by the hormone

(8) Oxytocin
(D) FSH

(&) Adrenaline

™ Thyrown

E."h'

30.

31.

32.

35.

ﬁ!"ﬁﬁtm

29. ﬁﬁ?”ﬁ‘rﬁqm
w1 2 | w2 o
) il U
T F FR S R s EEn e |

(A) 126 (B) 224
(C) 312 (D) 278
wE AdAIE H mzrefifa senes £ = §

g 3G @ ITE & | 70 FEemE |
(A) e -wifaa gEehifa

() whfa e

(C) i —aa qEHa
(D) TSt qETEhid

af2 [xl-llam px‘v-ql:xe-l'] 1 HET™
e (x— 1) 8,

(A) p=2qg
(C) 3p=2q

(B) g=2p
(D) 2p =30

Faregs ; foen . LT s ?

(A) 9@ (B) @MEm

(C) T=F (D) ToFem
ghi g Frafia e

U
(a) AR (B) siffeeriie

(C) (D) FSH



i,

- pr—m:

permanent Court of Arbitration (PCA)
Headquarter is located in

(B) Karachi

K
(A) B3 L (D) Hague

(C) New York

net National Product (NNP) = Gross National
product (GNP} =

(A) peduction
] investment

(B) Depreciation
(D) None of the above

in 2 phumgraph Shyam is to the left of

Madan, Mary is to the right of George.
< in between Shyam and Mary. Who

Karim is In

s at the corner ?

(A) Shyam (B} Mary
(C) George (D) Karim

refers to the policies undertaken
by Governments (national and subnational
levels) to reduce their deficits and
sccumulation of debt stock.
(A} Fiscal consolidation
(B) Fiscal borrowing
[C) Repo management
(D) Fiscal debt

The average age of 3 friends is 32 years. If
the age of a fourth friend is added, their
average age becomes 31 years. What is the

age of the fourth friend ? _
(A) 24 years (B) 26 years ﬁ
{C) 32 years (D) 28 years

The langest National Highway in India NH-7
COnnects

(A) ':E‘-'-’ Delhi = Mumbai — Bangalore

) t""a"!i!si - Kanya Kumari

) S:Fhm:r - Kanya Kumari

llong - Kanya Kumari

Pis the
MOthar
Sig the

;‘ms Pisthe sister of Q; P + Q means
ather of Q ; P - Q means P is the

aun
g :fT?
18) 5,

of Q. Which of the following means

52.

53.

54,

55.

56.

57.

58.

CMMS =51
wie w1 s sffzE (pea) w1 AT
. neEm¥
(A) & (B) T
(C) =yuth (D) #m
16 MY Ieqre (UA.0A.1. ) = el g I
(Sheadh)-_

(A) w20 (B) HeawmE
(c) Fam (D) &= © @ =1 TR

f ., Y
U ARl i, T Aea wmar B ) s, A9 :
a2 | Fim enu s o F 4= AR
FAUCHHR T
(A) @™

(C) =l

(8) =l
(D) FHW

g (weha e ImE =
Zrq 36 T2 it SEUTNTEE & AT FFEA
Fou 3y 1 7§ et @ wahia 2
[A]nﬁmnﬁm_ =gs
{a]maﬁ'r?l‘m:mmm f‘,r_q%
{C]’tﬁ’tm
(D) TR I
3 2t i ofvea g 32 94 @ ) Afe =
H wrg e A i, A I S S )
ﬂm%l%ﬁﬂ‘&r&ﬂﬁmm%?
(A) 2434 (8) 264
(c) 327 (D) 28 4
T T HER S T TEET NH-7 J@TE
() 7 faeeht — Haé - Jen i

/(B) o - w0 i 4

(C) Fwfit — - FHIh
(D) freii - &= FHI

PxQ&F 3MBPL QR TEAR; P+ QT
paFfime; p-qw ad dpQa
2 | Frafofas d 8 e sd 2 &
qA R 7

(A) T*xM+5S

(B) Sx M+R-T

(C) SxM+T

(D) S+TxMm



-Ompiete the serips

7, -.EJ 63,124, 215,342 7

..hi .*.51 (8} 511
\C) 391 (D) 421
Which of the following is not a impact
primter ?

(A) dot matrix printer

(B) daisy wheel printer

\C) drum printer

(0} laser printer

Presentiy Haryana Railway Police is Headed by
A} A5 Chawla

IB] Rajinder Kumar

{C) Satender Kumar Gupta

(D) Surinder Singh Bhoria

Aruna ranks twelfth in a class of forty-six.
What will be her rank from the last ?

(a) 37" (8) 33"
(C) 35+ (D) 34m
The Bretton Woods Conference held in the year
[A) 1945 (B) 1956
(C) 1944 (D) 1991

How much angle does a minute hand cover

in 20 minutes ?
(A) 120° (B) 180°
(C) 80° (D) 60°

Nhich of the following Acts provides the

tatutory Status to functioning of Reserve

ank of India ?

A) The Reserve Bank of India Act, 1934
(Il of 1934)

3) The Reserve Bank of India Act, 1944
(Il of 1944)

'} The Reserve Bank of India Act, 1954
(1l of 1854)

) None of the above

also known as the system board,

a large multilayered printed circuit board
ide a computer.

} Basic Input/Output Systems (BIOS)
) Control Unit

) Motherboard

| None of the above

44.

a5,

46,

47,

49.

50

51.

{MM

e, T

7196, 63,124, 215, 342, 7

(A) 481 (8) 59
[C) 391 (D) 421

favrtetferm 1 8 841 0F g 6,
(A) 312 Az o

(8) 25 & fom

(C) %m fazt

(D) e T

w7 v e 'Ij'r:m T T 4
(A) U, T, S

48) b g

< (C) #E R T

(D) "frar fie st

foarsita A va A 4 e w5
THEF] A9 T T -1 S 7

(A) 37" (8) 33*
(C) 35" (D) 34"
72 e w7

(A} 1945 (8) 1956
i€} 1944 (D) 1991

wF fo awl g8 20 fe § 3
EEICis -
1Al 120° (8) 180°

ﬁﬂrﬁrﬁaﬁ 0 d Ba-m sfafay

T 7w e o B

!M Wﬁ?ﬁihﬂﬁlﬁuﬁ‘ 1934
(1934 %1 11)

(B) st frad ¥ syfafivs, 1944
{1'3443“1“}

(C) wrta frsd = dFIﬁTﬁIZm 1954
(195477 ||

(D) VR 1 7 51 77

o F famn ard o 5= -

. Wil T w1 et e

w3

(A] mﬁfwm (BIC
(C) wEE
(D) T & & wré 7



mber of straight lines in this fig e
+ha MY
L-J1ne

(D) 15

ofers 10 formal guidelines to ¢

) (B) 12
i
3

— 3=

line onduct
_calogical research—consisting of Principleg
wﬂm gthical standards to be used ip the

geapline
4 participant ethics  (B) Code of conduet
(¢} Code of behaviour (D) Code of ethics

&lect the correct mirror image of the Riven

furewhen the mirror is placeg at line AB.
A
_;G
MG
0
B
DA XA
M (B) m“w
T Ov M
T
g w A T A
e M o)y| ADdM
I ¥ ¥
% gy .
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;_ E._.a edin
") 135y Ms 1976
5, D) 1983
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) Fer (B) Gnetum
(o) Tomato

of Jrq:
3 Ting _Mm_m_._ Penal Code provides
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; ..ffr._,amao;mm‘
M (B) 9
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=+ 28

A _ gV

MMs _ gy
g, Whichone of the following is a outer planet 7 66, F=fEfa=ada - U gy Teh -
(A} Mercury (B) Yenys (A) Tﬂ (@) r?; ) \
(C) Jupiter (0) Mars () mfa (D) wrm
4. from a point P Samir siarted walkin 67. UE Ty p B Wil afam f o
; rowards South and walked 40 m g m,_,f, e tirshr 40 ) =r= 3 ‘::’!1-‘ T‘-?‘“‘ g
turned towards his left and walked 30 m and et 'EI=I'='T 3 ‘#IT i F;:. ; H*.H'rn:i-_._h 3
reached a point Q. The point @ is at what ~dy- £ "o BN T W Qws KLco Bk WIAT
minimum distance and at what direction W3 QP A ﬁi’"-ﬁ T T om oy L
{rom the point P ? ﬁqpﬂfmﬁmﬂ? "
(A) 50 m South West (B) 45 m South £as (A) 5001, 2fem wfem (8) asoft ofemeg
(C) 50m South East (D) 35 m South tast (C) socfl.zfamwgd (D) 359 2wy -7
8. areimemational discussion groups 68, dﬂ"‘"«fmﬂm{r?mw:mﬁ \
that focus on a particular topic and helps in  rp—— A X ]
gathering information ahout the topic. acha gﬁrﬁt - # 3fhe 5w T i -~
(A) Newsgroup ( A'] [Pore
{B] Tﬂ‘inﬂt [E! -Eﬂ:l]?_
File Transfer Protocol (FTP . o )
a (C e ¢ the ok . (C) FTEE FHEH WZIE (FTP)
i (D) None of the abave (D) ITIR | | Wk T
69. Kantilal mixes BO kg of sugar worth of | 69, =ifremms. 6.75 ufa fm =12 g0 fem FE
Rs. 6.75 per kg with 120 kg worth of Rs. 8 %. 8 ufa fEm At 120 e o & g e
per kg. At wr;at rate shall he sell the mixture 2 | foom =) PEm o w23 AR TR 0%
ta gain 20% ? 2N E
TMA
(A) Rs.7.50 (B) Rs. 8 (A) %.7.50 8] 5. 9
(C) Rs.B.20 (D] Rs. B.85 (C) %, 820 (D) 5. 8.85
70. Litmus solution s a dye. 70. formm femm v . e
(A} Orange (B) Yellow (A) =y {B) Wen
(C) Purple (D) Lilac (C) Fwh D) ==
71. Which of the following pyramid is always | 71, Frafufes s fe-m e stada e
wpright 7 (A) =0
(K} Energy (B) Fawm
lE!:j Biomass (C) T
IC} Mumber
(D) Biomass of aquatic ecosystem (D) ﬂﬁamﬁﬁﬁ% L‘mwh* £k cyd .
72. 120men had provisions for 200 days. After5 |  72. }znwﬁfagzmmmuﬁgm ﬁsnh
days, 30 men died due to an epidemic. The F A%, WETTI § F 30 T "ﬁr
remaining food will now last for w4 a0 YA vmERE T E:Tm
1 s
[A) 150 days (®) 146 da\?ﬁg (A) 150 %= (B) 146 dfﬂ“
: D) 260
() 245 days (D) 260 days " = (€) ?459'“ o g
2. In Mierosaft Excel, the isdefined | 73, WS U@ W, o S
38 the vertical space from top to the bottom # 7 7§ IA W o
of the window, MEFA | . £,
(&) Row (8) Tab (A) EE e \
(€) Column (D) Insert [ (C) =em 2 .
Ly
x J 'Ir‘ s 1
\ -11- 1 e :: ‘
LW A - 4 W ;'_ E} "
e - V6%
- ‘l‘ l': . :..-r-""

& A




A

C
MMs . 5y
- & TR F FY § g
/ho has the longest tenure as Governor of |  59. mfﬁéﬁmm ar ? 0
eserve Bank of India ? ﬁ;ﬁ ﬁi“ami 5
A} Sir Benegal Rama Rau (A) B Eﬁ_ﬂ
, (B) WAHTET
B) Manmohan Singh (©) 78 3 72
C) L. G. Patel (0) R ia FﬁTﬁ Gl
D) None of the above ‘ X 2 b e ﬁ.‘ﬂﬁﬂ .
n case of an ore containing ZnS and Pb5, the . “H
jepressant used is (A) ZnCN (B) PhSCN
(A) ZnCN (8) PbSCN (C) NaCN (D) NaScN
i o e #, 21 Fa7 fov m & faad T 2 Gy
In this question, two statements are 61. g{"ﬂ P I' 3 Prepd e 3 arfde 59 3 @
given followed by two conclusions. s | ﬂ'r’*t’. Falan
Choose the concluslon(s} which mm X0
t fit(s) logically. - e
:::tcm‘el!lt: 1. 38 fa Far ¥ | @ %E
1. Some a;;plﬂs are banana. 2. ot FEe ¥ .
2. All bananas are fruits. faram -
Conclusions : R gmmﬁﬂf |
I. Some fruits are a;:l;.:*le.lt ih. g?ﬂ#ﬂﬁi I
Il. Some bananas are fruits. —
(A} Only Conclusion Il follows (A) Fae Few I” Hiﬂi-uim K
(B) Only Canclusion I follows (8) *?-ﬁﬂa Bica 3;?“'”’ ot HT
(C) Neither Conclusion | nor i follows (C) = ﬁﬂaﬂi 1<% | _"’W " ?-
D) Both Conclusions | and Il follow (D) Formd | i 1120 ST |
quatic mammals in polar seas have a thick | 62, &1 AP 0 Feitg F=wfra 5 U FH F W
yer of fat known as urA gt B, famt FEIATAIE )
1] Blubber (B) Scrubber (A) =eTart (B) =Fam
") Rubber (D) Fur (C) = (D) & -
ohan bought a watch with 25% discount | 63. uies 3 fs o9 W 25% T & A UF g
the selling price, If the watch cost him Ghdl | 3tz 3@ v ) Fr 5, 1,545 T
1,545, what is the original selling price LB B e ‘lﬁﬁﬂiﬁw? ? i
the watch ? (A) %. 2,050 PR
| Rs. 2,050 (B) %. 2,040 ¢ P o
Rs. 2,040 .
Cannot be determined (C) ﬁ’{{fgiﬁﬁm o AF
None of these (D) ¥4 | FI¥ ¥ i
is provided by the Internet | 64, _ 20 Wiy S (jsp) 7 A
ice Provider (ISP) to instruct the modem H SFTE T T T e o il
'al the telephone number and to identify ¥ fom wda warm % frem —
user's machine to the access provider's ) ¥ o 3vemy -y
*m for access to the network. p . RalLL
TCP/IP (B) Browser (a) TC f'_P _ (B) Er3=r i
Dialler software (D) None of the above (C) BN AREIW (D) 3qia #1
ch State Government is the Spoﬂ!ﬂ% 65.  FFI~1 T T SIRA ¥ By g e 7
in Hockey team 7 (A) FerTrn (8) =
Telangana (B} Karnataka S
Odisha (D) Punjab (C) sfEm (D) Yrarra
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74. Homo sapiens belongs to the family
(A) Hominidae (8) Holinidae
(C) Hissidae (D) None of the above
te of 18 km/hr, but

orses at the &N
o will take 1o

75. A man rides at the ra
stops for 6 mins to change !
of every 7" km. The ume that h
cover a distance of 90 km [s

(A) 6 hrs 18 min. {B) 6hrs 24 min

(C) 6 hrs (D) 6 hrs 12 min

76. UNEP announced the er
poliutant from the world as A
country Lo uUse phausted its supplies. It 1s

(Al un-leaded petrol  (B] Leaded petrol
(C) Coal (D) Coal tar

77. Who was called as the Father of Anatomy 7
(A) Aristotle (B) Hippocrates
(C) Heraphilus (D) Ptolemy
78. There are two numbers such that the sum
af twice the first and thrice the second is 8,
while the sum of thrice the first and twice

the second is 17. The larger of the twa is
(B) B

(A) 12 .
(C) & (D) 4 ﬁ
~_, popularly known as
all-in-one printer, is a device that
consolidates the capabilities of multiple
devices in one machine
{A) Laser printer
(C) Hydra printer
india’s first Pan-India helpline for
senfor citizens is
(A} Elderline, 14567 (B) Elder line, 14765
(C) Elder line, 14647 (D) None of the above

Chronic liver damage is called

(A) Cirrhosis (B) Lardosis

(C) Paikalosis (D) Lambosis
s a World Wide web Interface
that allows users to read and write a-malls
using a web browser.

adication of a
jperia — the lasl

{8) Drum printer
(D) Inkjet printer

(8) Webmall

(A) E-mall

(C) Outlook express (D) None of these

A2

75.

76.

77.

78.

79.
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(C) 62 (0) 6% 12 e
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=91 S sl o) e = ferm 2 we R
(A) &fim ifea nate (B) Harg 9ZE
(C) e (D) e 2w
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(a) sifrezizs () fewrree
() #nfEEra (D) zfew
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witfiEn T B oz
() Fro v @z S
(€} #res (o= (D) firet
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LR
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91.

92.

93.

94.

a5.

English Language

a sentence has
speech. Oul of
welect the and
gentence in

In the following question,
been given in Direct/ Indirect
the four given alternatives.
which best expresses the same
Indirect/Direct speech.

Nayan gxclalmed sadly th
“alas | L have

[A) Nayan said,

(B} Nayan said, "Alas I He s undone”
(C) Nayan <aid, “Alas | He wis undong”’
(D) Nayan said, “Alas | 1am undane”
The following santencs contains
grarnrnaﬂcal arror Of |diomatic
arror In it. You have to fin
that part of the sentence and
choose the alphabet of that part

as answer.

He was disc
against his guilt.

(A) He was discharged
{B) as there was

{C) no proof against

(D) No errof

at he was undone.
been gndong’

harged as there wds no proof

his guilt

In the following gquestion, yau have 10
give the suitable words for the homes ar
habitats of the noun subjects from the glven

choicas.

Hens or fowls are kept in a

(Al barracks (B) coop
{C) haole {D) den

Choose the Antonym of the given word.

DEXTEROUS
{A) awkward
[C) discord

(B} lazy
(D) pxlravagance

Fill in the blank with appropriate adjective
from the alternatives given below.

He |5 than his brother.

A olde
s (B eldest
(D) oldest

CMMS - 51_-—'

g7.

9g. Tl

99, gfu s

23 wEas
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the radius of the base of a right circular

g3, =fe we g st AT S0 TR e w1 /
Qinder is hal ed, keeping the hel Larme ¥ o e i e : ;
-rL:'L ::r[he I'El.:::b of th; Vulﬁlru:“.l |_|-|i,|1-_.!-.:-‘;_.,‘-_-|IE,:|_|g:,l._l,,‘-l._gI _‘mm_ -J'.'-l L "__‘" ”?T 34N 1:_‘ E':' i::_'u_‘ i, 4‘:“. I-EI, O, ” 2 r.
:'. yrder 1o that of the original one 7 S las fi- &;T’m-' a1 i =SETH TR TS W ST : :{-_ .
A) 1:4 (8) 1:8 T:‘} i‘-*l"“d N {F_.. -? o Wy
c) 1:2 (D) B:1 o i = ’%r )
vhere did Napoleon Banaparte dis 7 Ba. Srivforam sverars o reg wwl sk 7 A
{A) St. Helena (B) St Elba e L Hz Eor (8) fHzo=m iy 2
(C) Corsica Ui s Edap (C) =R (o) = s
. nsider the following statements about 85. w=rrmwT it HEuamshn W ETE =R = oo
e SaddpEd aeducation qualificaton to contest e fEran AT 26 = & e O
T'\*nﬁ . of Lok sabha and vidhana Sabha. I -t 1
!:ITCT]‘:E‘_E je noO educational gualification for = S B .
~didates for being an MP or an MLA. c g I”'H'a'.h Rrara: 5 EE’E“; ez
P tring an educational gualification will oo = ¥ TR T =t B -
W. z:priue N emajority of the citizens right W, Fesfors Toam TES S AEAH ﬁﬂ't::‘aﬂ__ 3
1o contest election in India. ‘_ﬂﬁ-}_q'“" = sy FUTTeR ﬂiﬁﬁﬁ =TEN
~hoose the right cption given below : fmafaffaaa s = Faeeea = =485 A
(A) The statement | is correct (A) =mu 1 EE R
(8) The statement Il is correct B (B) =oa= = R
{C) Both the ctatements 1 and nlarf corre (C) =Tt ===t | =i =R
(D) ‘En?:?r::;statemenu { and Il are gl gt -‘!c
in ancient times the term Urvara was used 86. '%;:ﬁﬂ? 'ﬂ;!?-l‘ﬂ I T T:"! ".;lTl'F‘l = HiEa =R
to indicate - e I e = :
(A) Fertile soil (B) Sterile soil (A) ::Tmﬁrét ig‘-; e Tl
(C) Waste soil (D) Sandy Soil () -ﬂwﬁﬁl‘ " ( wefreh @
Notochord present in . 87. TAET} a;'fng_'!qﬁﬁiﬂ_ 3 Bl -
{Aa) Non-chordates {8) Chordates = ST .
(C) Both (A) and (B) (D) None of these (C) (A) 3T (B) == (D) =8 = =rE TE
A train 270 meter long is running at a speed 88. 270 = ==h = == 36 Bl =t =2 <
of 36 km per hour, then it will cross a bridge a8 a= T R, 1 == 180 H=< e
of length 180 metres in we ger @ ey wwa 8 ow =on 7 .
{A) 50 sec. (B} 35 sec. (A) 501‘;—.;:75 (8) 35-&_2@';3 >
{C) 40 sec. (D) 45 sec. (C) AD &== Jﬂgﬂ AS HERE ‘ ;\/L'Srj:
when did Treaty of Versailles was signed ? 89. ==Ta =H @i 9T &N weer foeo T ¢ 3::,
(n) 1918 (8) 1919 (A) 1918 (8) 1919
(C) 1920 (D) 1935 (C) 1920 (D) 1935
Recently, the State which has come up with 90. == # H, “‘um—= . v {'! e - )
a "Happiness Index’” departme | y < Salnilin T2FE
(a) K e B farwam =0 STen T B
armataka (B) Haryana
(C) Kerala (D) No fth (A) _f"—qiﬁ (8) =f=mm
ne of these (C) =HFT=A (D) Fﬁ' = il‘a'* =1
-1

r.,-;'.,_ k - ‘1‘??'- '._,_| -4 "
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1. Fully A.C. Wifi Non-Stopable, R.O. Water, News Paper |

> Reserve Seat, Camera and Parking &1 gfaeT |

3. Daily Current Affair Print, §T% 3R G AR |

4. oS OR SrEgATE W F Sl R e | S - 3 @S, IR PrS, A

5. gRaTom G S ( HSSC ) WaTs ¥ A sifperga v fore S |

6. TARGET & W Ramm HSSC (CET, HR POLICE, GRAM SACHIV, PATWARI)
a1fX gaf P TARGET & |RI STl &xarg Siet |

7 & gaE ¥ ereie faar weem| 19 #8m # gur Syllabus Cover (HSSC,SSC) |

8. ST fodl N JP-A B B 70 T F A AGA| T AMER 100 HI F W A E
e S BRaw b 80 IA 4T |

o. Tl TdETN B TS HTE W F Fdre e |

10, FEEX W HEN ¥ 2 TEST ONLINE for¢ Sime |

11. Monthly-Static Current Affair 3l HR Current Affair Library @ e 9 e @ ot

12. Boys & Girls @ 3rerT—2 o7 @ GRAeT 3R 3rerT-SferT Washroom | Join whatsApp group

13.Entry Time & Exit Time 3frex # e f&y S |

Fees- 600 (07 A.M. To 02 P.M.) Half Time :-400
(02 P.M. To 07 P.M.) Half Time :-300
arest arEad @ a ¥ W @ frg YouTube Channel @ Adrash Library

Narwana Search @ |

Are—gv A 2 2w forg omeR-
1- $SC - foret RAILWAY, NTPC, CGL, CPO, COVER &F |
a
2. HSSC. CET, HARYANA POLICE, PATWARI, GRAM SACHIV, COVER 857109081
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